20124R 8 BIREHKRZFEHBEER HIEK

AR Y P b

04/22 51— K72 RORC 12532 FY » P L—2XR

BT P AR B AH K2 (2 4F) Z=X:1l Total Time GAP | TEAAL|FBIERL) L) —XRAUk
1 2 A |—#&@Q) H OEH 11:55.581 39.671 1

2] 1 A |KREWH6) |[FE B 12:34.431|  38.850 40.119 2 10
3l 1 A |BX®EOB |R4E = 12:21.144 3Laps 41.003 6

4 3 A |BXER) |IEA tHiA 12:22.780 1Lap 40.752 4 8

5 3 A | (3) BAR frE 12:38.352 1Lap 40.748 3 6

6| 2 A |BXEWMA) |[HE N 12:13.3 2Laps 40.992 5 5

7] 1 B |HEEHG®6) |&HK KER 11:57.058 41.112 9 4

8|l 1 B |[#&HE®4) FAIER JEL=ER 12:16.458 41.359 10 3

9] 3 B [BX&EQ) |2F & 12:18.328 41.018 7 2

10| 4 B |#E(3) B HX 12:25.128 41,088 8 1
11| 1 B [AX#EOB |/hN&Hl #HmXK 11:58.474 1Lap 41.604 11

12 1 B |#&EE(5) N KER 11:59.885 5Laps 41.656 12 0.5

13| 4 C |08 (3) HFE X 11:57.540 42.262 14 05

14| 2 C |BXHE(6) |fRIF £E 12:26.164 42.694 15 05

15| 2 C 3R 4) INEFEE thid 12:18.079 41818 13 0.5

16| 5 C 28 R 2Laps 44.049 17 05

17 5 D AHE EE 12:01.106 44.665 18 05

18] 3 D =F 1518 12:25.728 45.886 19 0.5

4 D |#(3) ARE 50 |Unknown 46.248 20 0.5

5 D HHE EZ |Unknown 46.938 21 05

4 D KE Unknown 47877 22 05

2 E WE Unknown 49.323 23 0.5

5 E &2 Unknown 49.840 24 0.5

5 E =58 B |Unknown 51.916 25 0.5

4 E HA Unknown 53.322 26 0.5

5 E LWE #&%F |Unknown 1:03.230 27 0.5

99| 3 C [EE Q) 1E BE DNS 43.393 16 0.5
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